BMvhE3E BAT_RAE& 8ASBAS BEaRA>-7ILR
< R5. 8/5(%) : RRT=22—h >

o
LaJb—var> [ 13 TOER] K AREE >
F SF 2R 1R 1R 2R 3R SF F
— 11 A BEE  mBALTC /e
2 BYE — [®
3 AR '  ILRA—FY Mhs—
02 , 4 B BT mmaUC mi— 61
5 Rk R NWTC i 60
o 6 EBER FR ER-—TC thi— 60
6 PN N — 64
7 R BE s#I59Y he—
o0 o |8 2R FIE NWTC il — 75
9o ajfg & OTC ) —I 64
00 L0 KE EE #mauc me— |0
1 U E BEO—> /n5— 61
62 s 12 Zg S8 NWTC NG —— 61
13 FBA X kwsLte si— 6
60 14 FhF B JILRA-—TY tho2— 61
14 rwn - =
A 15 B FANKER  ITAER i =
60 16 RS KB EBALTC IN5— 62
17 N - —_ 0
17 EBHE BE JLxA—F> ne— 6
61 o 18 A BZE EfR—>TC tho— 62
19 HEik E£F @Eo—> he— 03
00 1 20 WHE % (EIEELTC 2 —— 62
21 A% ¥EZE  PARQUESC /he— 60
00 22 INEE #WEF ER—>TC H1— | O
23 . —_—— « - —_ 60
23 {FE BN TLRA—TY /6 |
o o 24 B K EmsLTe s1— 63
25 KfE B HIBTS 60
60 KL JIIFR #RER kEABLTC  P1— 63
21 MR BE TAER  f1— 6 =
62 2 28 HE B (EIBALTC /N6 —
= 29 {FEE HIE w#y5Yy o— 64 =5
3030 NH EEFF NWTC g1 ‘

<Z{REE>

5 {FEE R NWTC i
28 HE B (EIBLLTC /N6 | 64




wihvhFE AfI7T=2K& 8BA2 BE BRI A7ILR

(9= TOER]

< R5. 8/5(x) : 8B7T=2—k >

Lavyr—ary L AH >
F SF QF 1R 1R 2R QF SF F
111 fly HE JLRA—FY 3
% o0 FL # @wmERo— pma— |%
3
= 3 B¥E Fith mwsic me—% =
4 #HK B TAR /N3
5
5 =M EHh oTC M2 03
60 N =
-6 EWL rst NWTC I
7 Bl |E ILRFI—T 2 62
;
= 8 JKH #EME  wentc  ma—°% o
9 EH & BWEO—Y /3
9
bl -+ S P — . | 61
62 10 l‘\ﬂ] nﬁ'\ﬁj?. R"RH¥EITHL M .t
11 GEE B mAER 03 63
12
12 HEik & @#BRo— A2 62
! 13 fhiE BE NWTC  /h2— 60
14
14 _"_é':'?l::l, gf]-\}fg TLRINTA4A IN2 64 7
WO - 15 /A EHIy  @\RO—Y a2 —
16 ¥ KBF  Ssfamily TC /2
16
17 /B EF #EBEA—Y M | 60
o2 18 R ;K oTC /M3 ol
18
19 SAIAT fiFE wweale ame— P —
- 120 ‘/ffﬁig £ ER—2TC /13
) 6 IZEL Rt NWTC /v e
< ZLRTEEE > ~ —
1 R REH ITAER /3



< R5. 8/5(%) : R{T=R2—h >

EMhpEFEE AIT=2K& 8RAARE AUSRAFZILR

[ch&HORR)

WAL 1t/ 24 F 6-6212L—17

E2 F A 1] 2| 3| 4] 5| sk |E
Z,m/\ EEK ,-|—\_~/ "
"SEig m | EBELTO | e 26 | 61| 62| 61| 3-1 | 2
ﬁ?’f ;@2% Wigts | o | 62 60 | 61 | 60| 4-0 | 1
THN R I
Eﬁj ﬁg% SUxA—7o || 16| 06 46 | 63 | 1-3 | 4
/\ N
Té}"é.? §§ mRALTC |22 26 | 16 | 64 64| 2-2 | 3
%/ﬁ S| SEEE |E0| 16| 06 | 36 | 46 0-4 | 5




®ihhFEE RAfIT=A2 8RAZ BUYBRZULR

< R5. 8/5(%) : R{T=R2—h >

[INEEOER]

ETSgL 87—Ls7+F 8-8%17L—7

2 3 & 1] 2| 3| 4| B E

|| BH B | oo |\ | g5 g0 |84 [ o0 |
o +

? fllln$ %E wRaLtc || 38 80| 79| 1-2 | 3

ik EISE 1N
3 EEIE%E,;%%K mwarto || 08 | 08 28 | 0-3 | 4
g P P PN PR




